

1) a) $\int_0^1 x^3(1+x) dx = \int_0^1 x^3 + x^4 dx = \left[\frac{x^4}{4} + \frac{x^5}{5} \right]_0^1 = \frac{1}{4} + \frac{1}{5} - (0+0) = \frac{9}{20}$ b) $\int 3 \sin^2 x \cos x dx =$
 $= \int \left[\frac{t = \sin x}{\frac{dt}{dx} = \cos x dx} \right] = \int 3t^2 dt = t^3 + C = \sin^3 x + C$ c) $\int \cos^3 x dx = \int \cos^2 x \cos x dx =$
 $= \int (1 - \sin^2 x) \cos x dx = \left[\frac{t = \sin x}{\frac{dt}{dx} = \cos x dx} \right] = \int 1 - t^2 dt = t - \frac{t^3}{3} + C = \sin x - \frac{\sin^3 x}{3} + C$

2) $y' + 2xy = 2x, y(0) = 2$ IF: $e^{\int 2x dx} = e^{x^2} \Rightarrow \frac{d}{dx}(e^{x^2} y) = 2x e^{x^2} \Rightarrow$
 $e^{x^2} y = \int \frac{d}{dx}(e^{x^2} y) dx = \int 2x e^{x^2} dx = \left[\frac{t = x^2}{\frac{dt}{dx} = 2x dx} \right] = \int e^t dt = e^t + C = e^{x^2} + C \Rightarrow y = 1 + C e^{-x^2}$
 $\Rightarrow y(0) = 1 + C e^0 = 1 + C \Rightarrow C = 1 \Rightarrow y(x) = 1 + e^{-x^2}$

3) $y'' - 4y' + 3y = e^{2x}$ $y(0) = y'(0) = 0$ $y = y_p + y_h$ $Km. \text{ EW } 0 = \lambda^2 - 4\lambda + 3 = 0$
 $\lambda_{1,2} = 1, 3 \Rightarrow y_h = C_1 e^x + C_2 e^{3x}$ Ansatz $y_p = x^m e^{2x} = [m > 0] = C e^{2x}$
 $y_p' = 2C e^{2x}, y_p'' = 4C e^{2x}$ Einsetzung $\Rightarrow e^{2x} = y_p'' - 4y_p' + 3y_p = 4C e^{2x} - 4 \cdot 2C e^{2x} + 3C e^{2x} =$
 $= e^{2x} (4C - 8C + 3C) \Rightarrow -C = 1 \Rightarrow C = -1 \Rightarrow y_p = -e^{2x} \therefore y = e^{2x} (C_1 + C_2 e^{2x})$
 $y = e^{2x} + C_1 e^x + C_2 e^{3x}$ an beginnbedingung $\Rightarrow 0 = 1 + C_1 + C_2, 0 = 2 + C_1 + 3C_2$
 $\therefore C_2 = -1/2, \Rightarrow y = e^{2x} - \frac{1}{2} e^x - \frac{1}{2} e^{3x}$

4) c) $l = \sqrt{(4-1)^2 + (5-1)^2} = \sqrt{9+16} = \sqrt{25} = 5$ d) $y = kx + m$ $k = \frac{\Delta y}{\Delta x} = \frac{5-1}{4-1} =$
 $= \frac{4}{3} \Rightarrow y = \frac{4}{3}x + m$ an $1 = y(1) = \frac{4}{3} \cdot 1 + m \Rightarrow m = -\frac{1}{3} \therefore y = \frac{4}{3}x - \frac{1}{3}$
 $l = \int_1^4 \sqrt{1 + (y'(x))^2} dx = \int_1^4 \sqrt{1 + (\frac{4}{3})^2} dx = \sqrt{\frac{9+16}{9}} \int_1^4 dx = \frac{5}{3} (4-1) = 5$

5) $\cos 2v = \cos(v+v) = \cos^2 v - \sin^2 v = 1 - 2 \sin^2 v \Rightarrow \cos x - 1 = -2 \sin^2 \frac{x}{2}$
 $\therefore l = \lim_{x \rightarrow 0} \frac{\cos x - 1}{x \sin \frac{x}{2}} = \lim_{x \rightarrow 0} \frac{-2 \sin^2 \frac{x}{2}}{x \sin \frac{x}{2}} = \lim_{x \rightarrow 0} \frac{-2 \sin \frac{x}{2}}{x \cos \frac{x}{2}} = \lim_{x \rightarrow 0} \frac{-2 \sin \frac{x}{2}}{x} \cdot \frac{1}{\cos \frac{x}{2}} =$
 $= \lim_{x \rightarrow 0} \frac{-2 \sin \frac{x}{2}}{x} \cdot \frac{1}{\cos \frac{x}{2}} = -1 \cdot 1 = -1$

6) I = $\int e^{ax} \sin bx dx = [PI] = \frac{e^{ax}}{a} \sin bx - \frac{b}{a} \int e^{ax} \cos bx dx = [PI] = \frac{e^{ax} \sin bx}{a}$
 $- \frac{b}{a} \left(\frac{e^{ax}}{a} \cos bx + \frac{b}{a} \int e^{ax} \sin bx dx \right) = \frac{e^{ax}}{a^2} (a \sin bx - b \cos bx) - \frac{b^2}{a^2} I$ Bootstrapping \Rightarrow
 $(1 + \frac{b^2}{a^2}) I = \frac{e^{ax} (a \sin bx - b \cos bx)}{a^2} \Rightarrow I = \frac{1}{a^2 + b^2} (a \sin bx - b \cos bx) e^{ax} + C$ $a, b \neq 0$

7) a) Om $\int_0^x t y(t) dt \exists$ s.d. gillan $y'(x) = \frac{d}{dx} (1 + \int_0^x t y(t) dt) = x y(x)$ z.konstant om
 $y(x) = konst. \Rightarrow y'(x) \exists \Rightarrow y(x) = konst.$

b) Om y konst s.d. $\int_0^x t y(t) dt$ om y $y' = \frac{d}{dx} (1 + \int_0^x t y(t) dt) = x y(x)$
 $\Rightarrow y' - x y = 0 \Rightarrow$ IF: $e^{\int -x dx} = e^{-x^2/2} \therefore \frac{d}{dx} (e^{-x^2/2} y) = e^{-x^2/2} \cdot 0 = 0 \Rightarrow$
 $e^{-x^2/2} y = \int \frac{d}{dx} (e^{-x^2/2} y) dx = \int 0 dx = C \Rightarrow y = C e^{x^2/2}$ Vidare gillan $y(0) = 1 \Rightarrow C = 1$
 $\Rightarrow y = e^{x^2/2}$